
Ja
n
u
ar
y

20
23



January 2023

RODRUNNER REF NO: BC-AF-BS035 ADAPTABLE ALFA ROMEO

Control Arm Bushing

Weight: 0,115

STELVIO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

949 2016- Front Upper 50539880*, 50539881,
68357022AA, 68356867AA

Length: 44,8

TC-AF-478
Control Arm

and Ball Joint
Front Right

Upper
50539880, 68357022AA

TC-AF-479
Control Arm

and Ball Joint
Front Left

Upper
50539881, 68356867AA

RODRUNNER REF NO: BC-AU-BS136 ADAPTABLE AUDI

Control Arm Bushing

Weight: 0,35

TT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FV3 2014- Front Lower
Outer

8S0407151D*, 8S0407151DS*

Length: 50

TC-A-1108
Control Arm

and Ball Joint
Front Left

Lower
8S0407151D, 8S0407151D L,
8S0407151D S1, 8J0407366

TC-A-1108S Control Arm Front Lower 8S0407151D*, 8S0407151DS*

TC-A-1109
Control Arm

and Ball Joint
Front Right

Lower
8S0407151D, 8S0407151D R,
8S0407151D S2, 8J0407365

www.rodrunnerparts.com 1



January 2023

RODRUNNER REF NO: TC-B-1388 ADAPTABLE BMW

Lateral Arm

Weight: 0,642

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Rear Right
Upper Forward

33306871006, 33306871498

Length: 236,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

RODRUNNER REF NO: TC-B-1388 ADAPTABLE BMW

Lateral Arm

Weight: 0,642

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Rear Right
Upper Forward

33306871006, 33306871498

Length: 236,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

www.rodrunnerparts.com 2



January 2023

RODRUNNER REF NO: TC-B-1388 ADAPTABLE BMW

Lateral Arm

Weight: 0,642

İX3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G08 2020- Rear Right
Upper Forward

33306871006, 33306871498

Length: 236,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

RODRUNNER REF NO: TC-B-1389 ADAPTABLE BMW

Lateral Arm

Weight: 0,642

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Rear Left
Upper Forward

33306871005, 33306871497

Length: 236,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

www.rodrunnerparts.com 3



January 2023

RODRUNNER REF NO: TC-B-1389 ADAPTABLE BMW

Lateral Arm

Weight: 0,642

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Rear Left
Upper Forward

33306871005, 33306871497

Length: 236,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

RODRUNNER REF NO: TC-B-1389 ADAPTABLE BMW

Lateral Arm

Weight: 0,642

İX3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G08 2020- Rear Left
Upper Forward

33306871005, 33306871497

Length: 236,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

www.rodrunnerparts.com 4



January 2023

RODRUNNER REF NO: TC-B-1408 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 1,924

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Front Right
Rearward

31106893724, 31106885072

Length: 294,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS200
Control Arm

Bushing
Front Lower
Rearward

31106893724*, 31106885072*

RODRUNNER REF NO: TC-B-1408 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 1,924

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Front Right
Rearward

31106893724, 31106885072

Length: 294,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS200
Control Arm

Bushing
Front Lower
Rearward

31106893724*, 31106885072*

www.rodrunnerparts.com 5



January 2023

RODRUNNER REF NO: TC-B-1409 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 1,924

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Front Left
Rearward

31106893723, 31106885071

Length: 294,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS200
Control Arm

Bushing
Front Lower
Rearward

31106893724*, 31106885072*

RODRUNNER REF NO: TC-B-1409 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 1,924

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Front Left
Rearward

31106893723, 31106885071

Length: 294,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS200
Control Arm

Bushing
Front Lower
Rearward

31106893724*, 31106885072*

www.rodrunnerparts.com 6



January 2023

RODRUNNER REF NO: BC-BM-BS197 ADAPTABLE BMW

Control Arm Bushing

Weight: 0,477

iX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I20 2021- Front Lower
Forward

31106893550*, 31106893549*

Length: 90

TC-B-1278
Control Arm

and Ball Joint
Front Right

Lower Forward
31106893550

TC-B-1279
Control Arm

and Ball Joint
Front Left

Lower Forward
31106893549

RODRUNNER REF NO: BC-BM-BS197 ADAPTABLE BMW

Control Arm Bushing

Weight: 0,477

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019- Front Lower
Forward

31106893550*, 31106893549*

Length: 90

TC-B-1278
Control Arm

and Ball Joint
Front Right

Lower Forward
31106893550

TC-B-1279
Control Arm

and Ball Joint
Front Left

Lower Forward
31106893549

www.rodrunnerparts.com 7



January 2023

RODRUNNER REF NO: BC-BM-BS197 ADAPTABLE BMW

Control Arm Bushing

Weight: 0,477

X6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G06 2019- Front Lower
Forward

31106893550*, 31106893549*

Length: 90

TC-B-1278
Control Arm

and Ball Joint
Front Right

Lower Forward
31106893550

TC-B-1279
Control Arm

and Ball Joint
Front Left

Lower Forward
31106893549

RODRUNNER REF NO: BC-BM-BS197 ADAPTABLE BMW

Control Arm Bushing

Weight: 0,477

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2019- Front Lower
Forward

31106893550*, 31106893549*

Length: 90

TC-B-1278
Control Arm

and Ball Joint
Front Right

Lower Forward
31106893550

TC-B-1279
Control Arm

and Ball Joint
Front Left

Lower Forward
31106893549

www.rodrunnerparts.com 8



January 2023

RODRUNNER REF NO: BC-BM-BS200 ADAPTABLE BMW

Control Arm Bushing

Weight: 0,316

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Front Lower
Rearward

31106893724*, 31106885072*

Length: 70,5

TC-B-1408
Control Arm

and Ball Joint
Front Right
Rearward

31106893724, 31106885072

TC-B-1409
Control Arm

and Ball Joint
Front Left
Rearward

31106893723, 31106885071

RODRUNNER REF NO: BC-BM-BS200 ADAPTABLE BMW

Control Arm Bushing

Weight: 0,316

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Front Lower
Rearward

31106893724*, 31106885072*

Length: 70,5

TC-B-1408
Control Arm

and Ball Joint
Front Right
Rearward

31106893724, 31106885072

TC-B-1409
Control Arm

and Ball Joint
Front Left
Rearward

31106893723, 31106885071

www.rodrunnerparts.com 9



January 2023

RODRUNNER REF NO: BC-BM-BS201 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,152

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Rear Upper
Forward

33306878017*, 33306878018*,
33306871006*, 33306871005*

Length: 54

TC-B-1388 Lateral Arm
Rear Right

Upper Forward
33306871006, 33306871498

TC-B-1389 Lateral Arm
Rear Left

Upper Forward
33306871005, 33306871497

RODRUNNER REF NO: BC-BM-BS201 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,152

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Rear Upper
Forward

33306878017*, 33306878018*,
33306871006*, 33306871005*

Length: 54

TC-B-1388 Lateral Arm
Rear Right

Upper Forward
33306871006, 33306871498

TC-B-1389 Lateral Arm
Rear Left

Upper Forward
33306871005, 33306871497

www.rodrunnerparts.com 10



January 2023

RODRUNNER REF NO: BC-BM-BS201 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,152

İX3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G08 2020- Rear Upper
Forward

33306878017*, 33306878018*,
33306871006*, 33306871005*

Length: 54

TC-B-1388 Lateral Arm
Rear Right

Upper Forward
33306871006, 33306871498

TC-B-1389 Lateral Arm
Rear Left

Upper Forward
33306871005, 33306871497

RODRUNNER REF NO: BC-BM-BS201 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,152

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019- Rear Upper
Forward

33306878017*, 33306878018*,
33306871006*, 33306871005*

Length: 54

TC-B-1388 Lateral Arm
Rear Right

Upper Forward
33306871006, 33306871498

TC-B-1389 Lateral Arm
Rear Left

Upper Forward
33306871005, 33306871497

www.rodrunnerparts.com 11



January 2023

RODRUNNER REF NO: BC-BM-BS202 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,138

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Rear Upper
Forward

33306878017*, 33306878018*,
33306871006*, 33306871005*

Length: 48

TC-B-1388 Lateral Arm
Rear Right

Upper Forward
33306871006, 33306871498

TC-B-1389 Lateral Arm
Rear Left

Upper Forward
33306871005, 33306871497

RODRUNNER REF NO: BC-BM-BS202 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,138

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Rear Upper
Forward

33306878017*, 33306878018*,
33306871006*, 33306871005*

Length: 48

TC-B-1388 Lateral Arm
Rear Right

Upper Forward
33306871006, 33306871498

TC-B-1389 Lateral Arm
Rear Left

Upper Forward
33306871005, 33306871497

www.rodrunnerparts.com 12



January 2023

RODRUNNER REF NO: BC-BM-BS202 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,138

İX3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G08 2020- Rear Upper
Forward

33306878017*, 33306878018*,
33306871006*, 33306871005*

Length: 48

TC-B-1388 Lateral Arm
Rear Right

Upper Forward
33306871006, 33306871498

TC-B-1389 Lateral Arm
Rear Left

Upper Forward
33306871005, 33306871497

RODRUNNER REF NO: BC-BM-BS202 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,138

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019- Rear Upper
Forward

33306878017*, 33306878018*,
33306871006*, 33306871005*

Length: 48

TC-B-1388 Lateral Arm
Rear Right

Upper Forward
33306871006, 33306871498

TC-B-1389 Lateral Arm
Rear Left

Upper Forward
33306871005, 33306871497

www.rodrunnerparts.com 13



January 2023

RODRUNNER REF NO: BC-BM-BS203 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,141

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05 2019- Rear Lower
Forward

33306878037*

Length: 48

TC-B-1218 Lateral Arm
Rear Lower

Forward
33306878037

RODRUNNER REF NO: BC-BM-BS203 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,141

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2019- Rear Lower
Forward

33306878037*

Length: 48

TC-B-1218 Lateral Arm
Rear Lower

Forward
33306878037

www.rodrunnerparts.com 14



January 2023

RODRUNNER REF NO: IA-CH-1131 ADAPTABLE CHEVROLET

Idler Arm Bracket

Weight: 2,127

BLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1992-1994 Front K6722, 26049347, 26059031

Length: 136,5 Bolt Metric: M16X2

Moog Type

RODRUNNER REF NO: IA-CH-1131 ADAPTABLE CHEVROLET

Idler Arm Bracket

Weight: 2,127

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen,
GMT800

1999-2006 Front K6722, 26049347, 26059031

Length: 136,5 Bolt Metric: M16X2

Moog Type

www.rodrunnerparts.com 15



January 2023

RODRUNNER REF NO: IA-CH-1131 ADAPTABLE CHEVROLET

Idler Arm Bracket

Weight: 2,127

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1992-1999 Front K6722, 26049347, 26059031

Length: 136,5 Bolt Metric: M16X2

Moog Type

YEAR ONLY
1992-1995

RODRUNNER REF NO: IA-CH-1131 ADAPTABLE CHEVROLET

Idler Arm Bracket

Weight: 2,127

TAHOE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1992-2000 Front K6722, 26049347, 26059031

Length: 136,5 Bolt Metric: M16X2

Moog Type

YEAR ONLY
1995-2000

www.rodrunnerparts.com 16



January 2023

RODRUNNER REF NO: IA-CH-1131 ADAPTABLE GMC

Idler Arm Bracket

Weight: 2,127

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1992-2000 Front K6722, 26049347, 26059031

Length: 136,5 Bolt Metric: M16X2

Moog Type

RODRUNNER REF NO: IA-CH-1131 ADAPTABLE CADILLAC

Idler Arm Bracket

Weight: 2,127

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT400 1999-2000 Front K6722, 26049347, 26059031

Length: 136,5 Bolt Metric: M16X2

Moog Type

www.rodrunnerparts.com 17



January 2023

RODRUNNER REF NO: TC-CH-1148 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 15,575

EXPRESS 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2014 Front Right
Lower

20869233, 15750833

Length: 383,4 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-435 Ball Joint Front Lower 19207137, 12475477

BC-CH-BS121
Control Arm

Bushing
Front Lower

Inner
20869233*, 20869232*,
15750831*, 15750830*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

RODRUNNER REF NO: TC-CH-1148 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 15,575

EXPRESS 3500

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2003-2014 Front Right
Lower

20869233, 15750833

Length: 383,4 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-435 Ball Joint Front Lower 19207137, 12475477

BC-CH-BS121
Control Arm

Bushing
Front Lower

Inner
20869233*, 20869232*,
15750831*, 15750830*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

www.rodrunnerparts.com 18



January 2023

RODRUNNER REF NO: TC-CH-1148 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 15,575

SAVANA 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2003-2014 Front Right
Lower

20869233, 15750833

Length: 383,4 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-435 Ball Joint Front Lower 19207137, 12475477

BC-CH-BS121
Control Arm

Bushing
Front Lower

Inner
20869233*, 20869232*,
15750831*, 15750830*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

RODRUNNER REF NO: TC-CH-1148 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 15,575

SAVANA 3500

MODEL NO BODY YEAR DIRECTION OEM NO

2003-2014 Front Right
Lower

20869233, 15750833

Length: 383,4 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-435 Ball Joint Front Lower 19207137, 12475477

BC-CH-BS121
Control Arm

Bushing
Front Lower

Inner
20869233*, 20869232*,
15750831*, 15750830*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

www.rodrunnerparts.com 19



January 2023

RODRUNNER REF NO: TC-CH-1149 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 15,575

EXPRESS 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2014 Front Left
Lower

20869232, 15750832

Length: 383,4 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-435 Ball Joint Front Lower 19207137, 12475477

BC-CH-BS121
Control Arm

Bushing
Front Lower

Inner
20869233*, 20869232*,
15750831*, 15750830*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

RODRUNNER REF NO: TC-CH-1149 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 15,575

EXPRESS 3500

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2003-2014 Front Left
Lower

20869232, 15750832

Length: 383,4 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-435 Ball Joint Front Lower 19207137, 12475477

BC-CH-BS121
Control Arm

Bushing
Front Lower

Inner
20869233*, 20869232*,
15750831*, 15750830*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

www.rodrunnerparts.com 20



January 2023

RODRUNNER REF NO: TC-CH-1149 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 15,575

SAVANA 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2003-2014 Front Left
Lower

20869232, 15750832

Length: 383,4 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-435 Ball Joint Front Lower 19207137, 12475477

BC-CH-BS121
Control Arm

Bushing
Front Lower

Inner
20869233*, 20869232*,
15750831*, 15750830*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

RODRUNNER REF NO: TC-CH-1149 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 15,575

SAVANA 3500

MODEL NO BODY YEAR DIRECTION OEM NO

2003-2014 Front Left
Lower

20869232, 15750832

Length: 383,4 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-435 Ball Joint Front Lower 19207137, 12475477

BC-CH-BS121
Control Arm

Bushing
Front Lower

Inner
20869233*, 20869232*,
15750831*, 15750830*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

www.rodrunnerparts.com 21



January 2023

RODRUNNER REF NO: LS-CH-1156 ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,484

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2021- Front 84738011

Length: 111,5 Bolt Metric: M14X2

RODRUNNER REF NO: LS-CH-1156 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,484

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front 84738011

Length: 111,5 Bolt Metric: M14X2

www.rodrunnerparts.com 22



January 2023

RODRUNNER REF NO: LS-CH-1156 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,484

TAHOE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front 84738011

Length: 111,5 Bolt Metric: M14X2

RODRUNNER REF NO: LS-CH-1156 ADAPTABLE GMC

Stabilizer Bar Link

Weight: 0,484

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front 84738011

Length: 111,5 Bolt Metric: M14X2

www.rodrunnerparts.com 23



January 2023

RODRUNNER REF NO: LS-CH-1166 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,481

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2019- Front 84367821

Length: 111,5 Bolt Metric: M12X1,75

RODRUNNER REF NO: LS-CH-1166 ADAPTABLE GMC

Stabilizer Bar Link

Weight: 0,481

SIERRA 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2019- Front 84367821

Length: 111,5 Bolt Metric: M12X1,75

www.rodrunnerparts.com 24



January 2023

RODRUNNER REF NO: LS-CH-1186 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,51

SILVERADO 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Front 84472981

Length: 186 Bolt Metric: M12X1,75

RODRUNNER REF NO: LS-CH-1186 ADAPTABLE GMC

Stabilizer Bar Link

Weight: 0,51

SIERRA 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2019- Front 84472981

Length: 186 Bolt Metric: M12X1,75

www.rodrunnerparts.com 25



January 2023

RODRUNNER REF NO: LS-CH-1186 ADAPTABLE GMC

Stabilizer Bar Link

Weight: 0,51

SIERRA 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2019- Front 84472981

Length: 186 Bolt Metric: M12X1,75

RODRUNNER REF NO: IA-CH-1201 ADAPTABLE CHEVROLET

Idler Arm

Weight: 1,97

EXPRESS 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1996-2002 Front K6533, 26043834

Length: 76 Bolt Metric: M16X2

Moog Type / Idler Arm
Bracket

www.rodrunnerparts.com 26



January 2023

RODRUNNER REF NO: IA-CH-1201 ADAPTABLE CHEVROLET

Idler Arm

Weight: 1,97

EXPRESS 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1996-2002 Front K6533, 26043834

Length: 76 Bolt Metric: M16X2

Moog Type / Idler Arm
Bracket

RODRUNNER REF NO: IA-CH-1201 ADAPTABLE CHEVROLET

Idler Arm

Weight: 1,97

EXPRESS 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1996-2002 Front K6533, 26043834

Length: 76 Bolt Metric: M16X2

Moog Type / Idler Arm
Bracket

www.rodrunnerparts.com 27



January 2023

RODRUNNER REF NO: IA-CH-1201 ADAPTABLE GMC

Idler Arm

Weight: 1,97

SAVANA 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1995-2002 Front K6533, 26043834

Length: 76 Bolt Metric: M16X2

Moog Type / Idler Arm
Bracket

RODRUNNER REF NO: TC-CH-1218 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 8,065

TRAILBLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2002-2009 Front Right
Lower

19133554

Length: 380 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-184 Ball Joint Front Lower 19133670, 8191336700

YEAR ONLY
2002-2003

www.rodrunnerparts.com 28



January 2023

RODRUNNER REF NO: TC-CH-1218 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 8,065

ENVOY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2002-2009 Front Right
Lower

19133554

Length: 380 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-184 Ball Joint Front Lower 19133670, 8191336700

YEAR ONLY
2002-2003

RODRUNNER REF NO: TC-CH-1218 ADAPTABLE OLDSMOBILE

Control Arm and Ball Joint

Weight: 8,065

BRAVADA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2003 Front Right
Lower

19133554

Length: 380 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-184 Ball Joint Front Lower 19133670, 8191336700

YEAR ONLY
2002-2003

www.rodrunnerparts.com 29



January 2023

RODRUNNER REF NO: TC-CH-1218 ADAPTABLE BUICK

Control Arm and Ball Joint

Weight: 8,065

RAINIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2004-2007 Front Right
Lower

19133554

Length: 380 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-184 Ball Joint Front Lower 19133670, 8191336700

YEAR ONLY
2002-2003

RODRUNNER REF NO: TC-CH-1219 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 8,065

TRAILBLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2002-2009 Front Left
Lower

19133553

Length: 380 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-184 Ball Joint Front Lower 19133670, 8191336700

YEAR ONLY
2002-2003

www.rodrunnerparts.com 30



January 2023

RODRUNNER REF NO: TC-CH-1219 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 8,065

ENVOY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2002-2009 Front Left
Lower

19133553

Length: 380 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-184 Ball Joint Front Lower 19133670, 8191336700

YEAR ONLY
2002-2003

RODRUNNER REF NO: TC-CH-1219 ADAPTABLE OLDSMOBILE

Control Arm and Ball Joint

Weight: 8,065

BRAVADA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2003 Front Left
Lower

19133553

Length: 380 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-184 Ball Joint Front Lower 19133670, 8191336700

YEAR ONLY
2002-2003

www.rodrunnerparts.com 31



January 2023

RODRUNNER REF NO: TC-CH-1219 ADAPTABLE BUICK

Control Arm and Ball Joint

Weight: 8,065

RAINIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2004-2007 Front Left
Lower

19133553

Length: 380 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-184 Ball Joint Front Lower 19133670, 8191336700

YEAR ONLY
2002-2003

RODRUNNER REF NO: TR-CH-1231 ADAPTABLE CHEVROLET

Tie Rod End

Weight: 0,649

BLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1995-2005 Front Outer ES3462, 12471300, 8124713000

Length: 212,5 Bolt Metric: 7/16" 20G RH Housing Metric: 11/16"18G

Moog Type / AWD

www.rodrunnerparts.com 32



January 2023

RODRUNNER REF NO: TR-CH-1231 ADAPTABLE CHEVROLET

Tie Rod End

Weight: 0,649

S10 PICKUP

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2004 Front Outer ES3462, 12471300, 8124713000

Length: 212,5 Bolt Metric: 7/16" 20G RH Housing Metric: 11/16"18G

Moog Type / AWD

RODRUNNER REF NO: TR-CH-1231 ADAPTABLE GMC

Tie Rod End

Weight: 0,649

JIMMY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1995-2001 Front Outer ES3462, 12471300, 8124713000

Length: 212,5 Bolt Metric: 7/16" 20G RH Housing Metric: 11/16"18G

Moog Type / AWD

www.rodrunnerparts.com 33



January 2023

RODRUNNER REF NO: RA-CH-1262 ADAPTABLE CHEVROLET

Center Link

Weight: 3,18

TAHOE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1992-2000 Front Center DS1407, 26009057, 26050590

Length: 784,5

Moog Type

YEAR ONLY
1995-2000

RODRUNNER REF NO: RA-CH-1262 ADAPTABLE CADILLAC

Center Link

Weight: 3,18

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen,
GMT400

1999-2000 Front Center DS1407, 26009057, 26050590

Length: 784,5

Moog Type

www.rodrunnerparts.com 34



January 2023

RODRUNNER REF NO: RA-CH-1262 ADAPTABLE GMC

Center Link

Weight: 3,18

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1992-2000 Front Center DS1407, 26009057, 26050590

Length: 784,5

Moog Type

RODRUNNER REF NO: TR-CH-1271 ADAPTABLE CHEVROLET

Tie Rod End

Weight: 0,655

COLORADO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2012- Front 84670800

Length: 114,9 Bolt Metric: M14X2 Housing Metric: M14X1,5

ZR2 Model

YEAR ONLY
2015-

www.rodrunnerparts.com 35



January 2023

RODRUNNER REF NO: BC-CH-BS119 ADAPTABLE CHEVROLET

Lateral Arm Bushing

Weight: 0,9

BLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Rear Upper 84199654*, 84199653*

Length: 41

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

RODRUNNER REF NO: BC-CH-BS119 ADAPTABLE CHEVROLET

Lateral Arm Bushing

Weight: 0,9

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear Upper 84199654*, 84199653*

Length: 41

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

www.rodrunnerparts.com 36



January 2023

RODRUNNER REF NO: BC-CH-BS119 ADAPTABLE BUICK

Lateral Arm Bushing

Weight: 0,9

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear Upper 84199654*, 84199653*

Length: 41

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

RODRUNNER REF NO: BC-CH-BS119 ADAPTABLE CADILLAC

Lateral Arm Bushing

Weight: 0,9

XT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Rear Upper 84199654*, 84199653*

Length: 41

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

www.rodrunnerparts.com 37



January 2023

RODRUNNER REF NO: BC-CH-BS119 ADAPTABLE CADILLAC

Lateral Arm Bushing

Weight: 0,9

XT6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Rear Upper 84199654*, 84199653*

Length: 41

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

RODRUNNER REF NO: BC-CH-BS119 ADAPTABLE GMC

Lateral Arm Bushing

Weight: 0,9

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2017- Rear Upper 84199654*, 84199653*

Length: 41

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

www.rodrunnerparts.com 38



January 2023

RODRUNNER REF NO: BC-CH-BS120 ADAPTABLE CHEVROLET

Lateral Arm Bushing

Weight: 0,88

BLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Rear Upper 84199654*, 84199653*

Length: 38

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

RODRUNNER REF NO: BC-CH-BS120 ADAPTABLE CHEVROLET

Lateral Arm Bushing

Weight: 0,88

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear Upper 84199654*, 84199653*

Length: 38

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

www.rodrunnerparts.com 39



January 2023

RODRUNNER REF NO: BC-CH-BS120 ADAPTABLE BUICK

Lateral Arm Bushing

Weight: 0,88

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear Upper 84199654*, 84199653*

Length: 38

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

RODRUNNER REF NO: BC-CH-BS120 ADAPTABLE CADILLAC

Lateral Arm Bushing

Weight: 0,88

XT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Rear Upper 84199654*, 84199653*

Length: 38

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

www.rodrunnerparts.com 40



January 2023

RODRUNNER REF NO: BC-CH-BS120 ADAPTABLE CADILLAC

Lateral Arm Bushing

Weight: 0,88

XT6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Rear Upper 84199654*, 84199653*

Length: 38

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

RODRUNNER REF NO: BC-CH-BS120 ADAPTABLE GMC

Lateral Arm Bushing

Weight: 0,88

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2017- Rear Upper 84199654*, 84199653*

Length: 38

TC-BU-248 Lateral Arm
Rear Right

Upper
84199654

TC-BU-249 Lateral Arm
Rear Left

Upper
84199653

www.rodrunnerparts.com 41



January 2023

RODRUNNER REF NO: BC-CH-BS121 ADAPTABLE CHEVROLET

Control Arm Bushing

Weight: 0,283

EXPRESS 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2014 Front Lower
Inner

20869233*, 20869232*, 15750831*,
15750830*

Length: 75

TC-CH-1148
Control Arm

and Ball Joint
Front Right

Lower
20869233, 15750833

TC-CH-1149
Control Arm

and Ball Joint
Front Left

Lower
20869232, 15750832

TC-CH-158
Control Arm &
Ball Joint Assy

Front Right
Lower

15750831

TC-CH-159
Control Arm &
Ball Joint Assy

Front Left
Lower

15750830

www.rodrunnerparts.com 42



January 2023

RODRUNNER REF NO: BC-CH-BS121 ADAPTABLE CHEVROLET

Control Arm Bushing

Weight: 0,283

EXPRESS 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2014 Front Lower
Inner

20869233*, 20869232*, 15750831*,
15750830*

Length: 75

TC-CH-1148
Control Arm

and Ball Joint
Front Right

Lower
20869233, 15750833

TC-CH-1149
Control Arm

and Ball Joint
Front Left

Lower
20869232, 15750832

TC-CH-158
Control Arm &
Ball Joint Assy

Front Right
Lower

15750831

TC-CH-159
Control Arm &
Ball Joint Assy

Front Left
Lower

15750830

www.rodrunnerparts.com 43



January 2023

RODRUNNER REF NO: BC-CH-BS121 ADAPTABLE GMC

Control Arm Bushing

Weight: 0,283

SAVANA 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2003-2014 Front Lower
Inner

20869233*, 20869232*, 15750831*,
15750830*

Length: 75

TC-CH-1148
Control Arm

and Ball Joint
Front Right

Lower
20869233, 15750833

TC-CH-1149
Control Arm

and Ball Joint
Front Left

Lower
20869232, 15750832

TC-CH-158
Control Arm &
Ball Joint Assy

Front Right
Lower

15750831

TC-CH-159
Control Arm &
Ball Joint Assy

Front Left
Lower

15750830

www.rodrunnerparts.com 44



January 2023

RODRUNNER REF NO: BC-CH-BS121 ADAPTABLE GMC

Control Arm Bushing

Weight: 0,283

SAVANA 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2003-2014 Front Lower
Inner

20869233*, 20869232*, 15750831*,
15750830*

Length: 75

TC-CH-1148
Control Arm

and Ball Joint
Front Right

Lower
20869233, 15750833

TC-CH-1149
Control Arm

and Ball Joint
Front Left

Lower
20869232, 15750832

TC-CH-158
Control Arm &
Ball Joint Assy

Front Right
Lower

15750831

TC-CH-159
Control Arm &
Ball Joint Assy

Front Left
Lower

15750830

www.rodrunnerparts.com 45



January 2023

RODRUNNER REF NO: TC-CR-508 ADAPTABLE CHRYSLER

Control Arm and Ball Joint

Weight: 3,355

200

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2015- Front Right
Lower

68228520AF

Length: 335

Aluminium Type

RODRUNNER REF NO: TC-CR-509 ADAPTABLE CHRYSLER

Control Arm and Ball Joint

Weight: 3,355

200

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2015- Front Left
Lower

68228521AG

Length: 335

Aluminium Type

www.rodrunnerparts.com 46



January 2023

RODRUNNER REF NO: TR-DO-1001 ADAPTABLE DODGE

Tie Rod End

Weight: 0,995

RAM 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Inner ES3497, 52039186

Length: 167,5 Bolt Metric: M14X1,5 Housing Metric: 1"18G 2A

Moog Type / 4WD / 6.50"
Length

YEAR ONLY
1998-1999

RODRUNNER REF NO: TR-DO-1001 ADAPTABLE DODGE

Tie Rod End

Weight: 0,995

RAM 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Inner ES3497, 52039186

Length: 167,5 Bolt Metric: M14X1,5 Housing Metric: 1"18G 2A

Moog Type / 4WD / 6.50"
Length

YEAR ONLY
1998-1999

www.rodrunnerparts.com 47



January 2023

RODRUNNER REF NO: TR-DO-1001 ADAPTABLE DODGE

Tie Rod End

Weight: 0,995

RAM 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Inner ES3497, 52039186

Length: 167,5 Bolt Metric: M14X1,5 Housing Metric: 1"18G 2A

Moog Type / 4WD / 6.50"
Length

YEAR ONLY
1998-1999

RODRUNNER REF NO: BJ-DO-1004K ADAPTABLE DODGE

Ball Joint Kit

Weight: 1,425

RAM 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Lower K7365, 52113888AB

Length: 115 Bolt Metric: M16X1,5

Moog Type / RWD / Bolt-
On Type

YEAR ONLY
2000-2001

www.rodrunnerparts.com 48



January 2023

RODRUNNER REF NO: TR-DO-501 ADAPTABLE DODGE

Tie Rod End

Weight: 7,6

RAM 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Right
Outer

DS1456, 52038937

Length: 1.186 Bolt Metric: M14X1,5

Moog Type /4WD
/Longer Side / 46,9"

YEAR ONLY
1998-2001

RODRUNNER REF NO: TR-DO-501 ADAPTABLE DODGE

Tie Rod End

Weight: 7,6

RAM 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Right
Outer

DS1456, 52038937

Length: 1.186 Bolt Metric: M14X1,5

Moog Type /4WD
/Longer Side / 46,9"

YEAR ONLY
1998-1999

www.rodrunnerparts.com 49



January 2023

RODRUNNER REF NO: BC-FD-BS259 ADAPTABLE FORD

Control Arm Bushing

Weight: 0,533

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TKE 2011-2019 Front Lower 2237736*, 2237738*,
EB3C3078C2C*, EB3C3079C2C

Length: 74

TC-FO-1418
Control Arm

and Ball Joint
Front Right

Lower
2237736, EB3C3078C2C

TC-FO-1419
Control Arm

and Ball Joint
Front Left

Lower
2237738, EB3C3079C2C

RODRUNNER REF NO: BC-FD-BS259 ADAPTABLE FORD

Control Arm Bushing

Weight: 0,533

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TKE 2011-2019 Front Lower 2237736*, 2237738*,
EB3C3078C2C*, EB3C3079C2C

Length: 74

TC-FO-1418
Control Arm

and Ball Joint
Front Right

Lower
2237736, EB3C3078C2C

TC-FO-1419
Control Arm

and Ball Joint
Front Left

Lower
2237738, EB3C3079C2C

www.rodrunnerparts.com 50



January 2023

RODRUNNER REF NO: BC-FD-BS294 ADAPTABLE FORD

Control Arm Bushing

Weight: 0,318

KUGA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Lower
Outer

2451505*, 2451507*,
LX613A424CNA*,

Length: 65

TC-FO-1568
Control Arm

and Ball Joint
Front Right 2451505, LX613A423CNA

TC-FO-1569
Control Arm

and Ball Joint
Front Left 2451507, LX613A424CNA

RODRUNNER REF NO: BC-FD-BS294 ADAPTABLE FORD

Control Arm Bushing

Weight: 0,318

KUGA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Lower
Outer

2451505*, 2451507*,
LX613A424CNA*,

Length: 65

TC-FO-1568
Control Arm

and Ball Joint
Front Right 2451505, LX613A423CNA

TC-FO-1569
Control Arm

and Ball Joint
Front Left 2451507, LX613A424CNA

www.rodrunnerparts.com 51



January 2023

RODRUNNER REF NO: BC-FD-BS300 ADAPTABLE FORD

Lateral Arm Bushing

Weight: 0,38

FLEX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2013-2019 Rear Upper DG1Z5A972B*, DG1Z5A972A*

Length: 55

TC-FO-1748 Lateral Arm Rear Upper DG1Z5A972B, DG1Z5A972A

RODRUNNER REF NO: BC-FD-BS300 ADAPTABLE FORD

Lateral Arm Bushing

Weight: 0,38

TAURUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2010-2017 Rear Upper DG1Z5A972B*, DG1Z5A972A*

Length: 55

TC-FO-1748 Lateral Arm Rear Upper DG1Z5A972B, DG1Z5A972A

www.rodrunnerparts.com 52



January 2023

RODRUNNER REF NO: BC-FD-BS300 ADAPTABLE LINCOLN

Lateral Arm Bushing

Weight: 0,38

MKT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2019 Rear Upper DG1Z5A972B*, DG1Z5A972A*

Length: 55

TC-FO-1748 Lateral Arm Rear Upper DG1Z5A972B, DG1Z5A972A

www.rodrunnerparts.com 53



January 2023

RODRUNNER REF NO: BC-FD-BS304 ADAPTABLE FORD

Control Arm Bushing

Weight: 0,51

KUGA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Lower
Outer

2446223*, 2446227*,
LX613A424AEA, LX613A423AEA*

Length: 65

TC-FO-1768
Control Arm

and Ball Joint
Front Right

Lower
2446223, LX613A423AEA

TC-FO-1768S Control Arm
Front Right

Lower
2446223*, LX613A423AEA

TC-FO-1769
Control Arm

and Ball Joint
Front Left

Lower
2446227, LX613A424AEA

TC-FO-1769S Control Arm
Front Left

Lower
2446227*, LX613A424AEA

www.rodrunnerparts.com 54



January 2023

RODRUNNER REF NO: BC-FD-BS305 ADAPTABLE FORD

Control Arm Bushing

Weight: 0,481

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TKE 2011-2019 Front Lower 2237736*, 2237738*,
EB3C3078C2C*, EB3C3079C2C

Length: 74

TC-FO-1418
Control Arm

and Ball Joint
Front Right

Lower
2237736, EB3C3078C2C

TC-FO-1419
Control Arm

and Ball Joint
Front Left

Lower
2237738, EB3C3079C2C

RODRUNNER REF NO: BC-FD-BS305 ADAPTABLE FORD

Control Arm Bushing

Weight: 0,481

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TKE 2011-2019 Front Lower 2237736*, 2237738*,
EB3C3078C2C*, EB3C3079C2C

Length: 74

TC-FO-1418
Control Arm

and Ball Joint
Front Right

Lower
2237736, EB3C3078C2C

TC-FO-1419
Control Arm

and Ball Joint
Front Left

Lower
2237738, EB3C3079C2C

www.rodrunnerparts.com 55



January 2023

RODRUNNER REF NO: TR-FO-1141A ADAPTABLE FORD

Tie Rod End

Weight: 0,594

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UN105/UN150 1995-2001 Front Outer 5L5Z3A130AA*

Length: 94,6 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

YEAR ONLY
1998-2001

RODRUNNER REF NO: TR-FO-1141A ADAPTABLE FORD

Tie Rod End

Weight: 0,594

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2005 Front Outer 5L5Z3A130AA*

Length: 94,6 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 56



January 2023

RODRUNNER REF NO: TR-FO-1141A ADAPTABLE FORD

Tie Rod End

Weight: 0,594

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I USA Type 1998-2011 Front Outer 5L5Z3A130AA*

Length: 94,6 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

RODRUNNER REF NO: BJ-FO-1224K ADAPTABLE FORD

Ball Joint Kit

Weight: 0,839

KUGA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Right
Lower

2446223*, LX613A423AEA

Length: 68,4

TC-FO-1768
Control Arm

and Ball Joint
Front Right

Lower
2446223, LX613A423AEA

TC-FO-1769
Control Arm

and Ball Joint
Front Left

Lower
2446227, LX613A424AEA

www.rodrunnerparts.com 57



January 2023

RODRUNNER REF NO: BJ-FO-1225K ADAPTABLE FORD

Ball Joint Kit

Weight: 0,839

KUGA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Left
Lower

2446227*, LX613A424AEA

Length: 68,4

TC-FO-1768
Control Arm

and Ball Joint
Front Right

Lower
2446223, LX613A423AEA

TC-FO-1769
Control Arm

and Ball Joint
Front Left

Lower
2446227, LX613A424AEA

RODRUNNER REF NO: IA-FO-1451 ADAPTABLE FORD

Idler Arm

Weight: 2,727

EXPEDITION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1997-2003 Front K8739T, 1L3Z3350AA,
1L3Z3350AB

Length: 138 Bolt Metric: M14X1,5

Moog Type / W/ 2-1/2"
Between Mount Holes

www.rodrunnerparts.com 58



January 2023

RODRUNNER REF NO: IA-FO-1451 ADAPTABLE FORD

Idler Arm

Weight: 2,727

F-150

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 1997-2003 Front K8739T, 1L3Z3350AA,
1L3Z3350AB

Length: 138 Bolt Metric: M14X1,5

Moog Type / W/ 2-1/2"
Between Mount Holes

RODRUNNER REF NO: IA-FO-1451 ADAPTABLE FORD

Idler Arm

Weight: 2,727

F-250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 1997-2003 Front K8739T, 1L3Z3350AA,
1L3Z3350AB

Length: 138 Bolt Metric: M14X1,5

Moog Type / W/ 2-1/2"
Between Mount Holes

YEAR ONLY
1997-1999

www.rodrunnerparts.com 59



January 2023

RODRUNNER REF NO: IA-FO-1451 ADAPTABLE LINCOLN

Idler Arm

Weight: 2,727

BLACKWOOD

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1997-2003 Front K8739T, 1L3Z3350AA,
1L3Z3350AB

Length: 138 Bolt Metric: M14X1,5

Moog Type / W/ 2-1/2"
Between Mount Holes

RODRUNNER REF NO: IA-FO-1451 ADAPTABLE LINCOLN

Idler Arm

Weight: 2,727

NAVIGATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1997-2003 Front K8739T, 1L3Z3350AA,
1L3Z3350AB

Length: 138 Bolt Metric: M14X1,5

Moog Type / W/ 2-1/2"
Between Mount Holes

www.rodrunnerparts.com 60



January 2023

RODRUNNER REF NO: TR-FO-1471 ADAPTABLE FORD

Tie Rod End

Weight: 1,412

BRONCO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1980-1996 Front Inner E9TZ3A130D

Length: 432 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

OE Design / Longer Side

RODRUNNER REF NO: TR-FO-1471 ADAPTABLE FORD

Tie Rod End

Weight: 1,412

F-150

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 1980-1986 Front Inner E9TZ3A130D

Length: 432 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

OE Design / Longer Side

www.rodrunnerparts.com 61



January 2023

RODRUNNER REF NO: TR-FO-1471 ADAPTABLE FORD

Tie Rod End

Weight: 1,412

F-250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 1980-1986 Front Inner E9TZ3A130D

Length: 432 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

OE Design / Longer Side

RODRUNNER REF NO: TR-FO-1471 ADAPTABLE FORD

Tie Rod End

Weight: 1,412

F-350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 1980-1986 Front Inner E9TZ3A130D

Length: 432 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

OE Design / Longer Side

YEAR ONLY
1986-1996

www.rodrunnerparts.com 62



January 2023

RODRUNNER REF NO: TC-FO-1548 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 5,603

EDGE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2015- Front Right
Lower

F2GZ3078C, F2GZ3078B

Length: 369

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS298
Control Arm

Bushing
Front Lower

F2GZ3078C*, F2GZ3078B*,
F2GZ3079C*, F2GZ3079B*

RODRUNNER REF NO: TC-FO-1548 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 5,603

MKX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2016- Front Right
Lower

F2GZ3078C, F2GZ3078B

Length: 369

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS298
Control Arm

Bushing
Front Lower

F2GZ3078C*, F2GZ3078B*,
F2GZ3079C*, F2GZ3079B*

www.rodrunnerparts.com 63



January 2023

RODRUNNER REF NO: TC-FO-1549 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 5,603

EDGE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2015- Front Left
Lower

F2GZ3079C, F2GZ3079B

Length: 369

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS298
Control Arm

Bushing
Front Lower

F2GZ3078C*, F2GZ3078B*,
F2GZ3079C*, F2GZ3079B*

RODRUNNER REF NO: TC-FO-1549 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 5,603

MKX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2016- Front Left
Lower

F2GZ3079C, F2GZ3079B

Length: 369

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS298
Control Arm

Bushing
Front Lower

F2GZ3078C*, F2GZ3078B*,
F2GZ3079C*, F2GZ3079B*

www.rodrunnerparts.com 64



January 2023

RODRUNNER REF NO: TC-FO-1658 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 5,46

GALAXY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CK 2015- Front Right
Lower

1877652, E1GC3A052AEB

Length: 366,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1008
Control Arm

Bushing
Front Right

Lower Outer
1927131*, FG9C3A052ANB*

Aluminium Type

RODRUNNER REF NO: TC-FO-1658 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 5,46

S-MAX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CJ 2015- Front Right
Lower

1877652, E1GC3A052AEB

Length: 366,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1008
Control Arm

Bushing
Front Right

Lower Outer
1927131*, FG9C3A052ANB*

Aluminium Type

www.rodrunnerparts.com 65



January 2023

RODRUNNER REF NO: TC-FO-1659 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 5,46

GALAXY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CK 2015- Front Left
Lower

1877653, E1GC3A053AEB

Length: 366,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1009
Control Arm

Bushing
Front Left

Lower Outer
1927132*, FG9C3A053ANB*

Aluminium Type

RODRUNNER REF NO: TC-FO-1659 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 5,46

S-MAX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CJ 2015- Front Left
Lower

1877653, E1GC3A053AEB

Length: 366,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1009
Control Arm

Bushing
Front Left

Lower Outer
1927132*, FG9C3A053ANB*

Aluminium Type

www.rodrunnerparts.com 66



January 2023

RODRUNNER REF NO: TC-FO-1768 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 4,448

KUGA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Right
Lower

2446223, LX613A423AEA

Length: 375

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1224K Ball Joint Kit
Front Right

Lower
2446223*, LX613A423AEA

BC-FD-BS256
Control Arm

Bushing
Front Lower

Inner

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

BC-FD-BS304
Control Arm

Bushing
Front Lower

Outer
2446223*, 2446227*,

LX613A424AEA, LX613A423AEA*

Sheet Metal Type

RODRUNNER REF NO: TC-FO-1768S ADAPTABLE FORD

Control Arm

Weight: 3,653

KUGA

MODEL NO BODY YEAR DIRECTION OEM NO

III 2020- Front Right
Lower

2446223*, LX613A423AEA

Length: 283,8

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS256
Control Arm

Bushing
Front Lower

Inner

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

BC-FD-BS304
Control Arm

Bushing
Front Lower

Outer
2446223*, 2446227*,

LX613A424AEA, LX613A423AEA*

Sheet Metal Type

www.rodrunnerparts.com 67



January 2023

RODRUNNER REF NO: TC-FO-1769 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 4,448

KUGA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Left
Lower

2446227, LX613A424AEA

Length: 375

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1224K Ball Joint Kit
Front Right

Lower
2446223*, LX613A423AEA

BC-FD-BS256
Control Arm

Bushing
Front Lower

Inner

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

BC-FD-BS304
Control Arm

Bushing
Front Lower

Outer
2446223*, 2446227*,

LX613A424AEA, LX613A423AEA*

Sheet Metal Type

RODRUNNER REF NO: TC-FO-1769S ADAPTABLE FORD

Control Arm

Weight: 3,653

KUGA

MODEL NO BODY YEAR DIRECTION OEM NO

III 2020- Front Left
Lower

2446227*, LX613A424AEA

Length: 283,8

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS256
Control Arm

Bushing
Front Lower

Inner

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

BC-FD-BS304
Control Arm

Bushing
Front Lower

Outer
2446223*, 2446227*,

LX613A424AEA, LX613A423AEA*

Sheet Metal Type

www.rodrunnerparts.com 68



January 2023

RODRUNNER REF NO: TC-FO-1798 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 8,658

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I USA Type 1998-2011 Front Right
Lower

RK620498, 6L5Z3078AA,
3L5Z3078AA, 1L5Z3078AA

Length: 420,4 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1264 Ball Joint Front Lower
RK620498*, RK620499*,

6L5Z3078AA*, 6L5Z3079AA*

Moog Type / Front Coil
Springs/ USA MARKET

RODRUNNER REF NO: TC-FO-1798 ADAPTABLE MAZDA

Control Arm and Ball Joint

Weight: 8,658

B2300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I Usa Made 2001-2010 Front Right
Lower

RK620498, 6L5Z3078AA,
3L5Z3078AA, 1L5Z3078AA

Length: 420,4 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1264 Ball Joint Front Lower
RK620498*, RK620499*,

6L5Z3078AA*, 6L5Z3079AA*

Moog Type / Front Coil
Springs/ USA MARKET

www.rodrunnerparts.com 69



January 2023

RODRUNNER REF NO: TC-FO-1798 ADAPTABLE MAZDA

Control Arm and Ball Joint

Weight: 8,658

B2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UN 1998-2006 Front Right
Lower

RK620498, 6L5Z3078AA,
3L5Z3078AA, 1L5Z3078AA

Length: 420,4 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1264 Ball Joint Front Lower
RK620498*, RK620499*,

6L5Z3078AA*, 6L5Z3079AA*

Moog Type / Front Coil
Springs/ USA MARKET

RODRUNNER REF NO: TC-FO-1799 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 8,658

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I USA Type 1998-2011 Front Left
Lower

RK620499, 6L5Z3079AA,
3L5Z3079AA, F87Z3079AA

Length: 420,4 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1264 Ball Joint Front Lower
RK620498*, RK620499*,

6L5Z3078AA*, 6L5Z3079AA*

Moog Type / Front Coil
Springs/ USA MARKET

www.rodrunnerparts.com 70



January 2023

RODRUNNER REF NO: TC-FO-1799 ADAPTABLE MAZDA

Control Arm and Ball Joint

Weight: 8,658

B2300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I Usa Made 2001-2010 Front Left
Lower

RK620499, 6L5Z3079AA,
3L5Z3079AA, F87Z3079AA

Length: 420,4 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1264 Ball Joint Front Lower
RK620498*, RK620499*,

6L5Z3078AA*, 6L5Z3079AA*

Moog Type / Front Coil
Springs/ USA MARKET

RODRUNNER REF NO: TC-FO-1799 ADAPTABLE MAZDA

Control Arm and Ball Joint

Weight: 8,658

B2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UN 1998-2006 Front Left
Lower

RK620499, 6L5Z3079AA,
3L5Z3079AA, F87Z3079AA

Length: 420,4 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1264 Ball Joint Front Lower
RK620498*, RK620499*,

6L5Z3078AA*, 6L5Z3079AA*

Moog Type / Front Coil
Springs/ USA MARKET

www.rodrunnerparts.com 71



January 2023

RODRUNNER REF NO: TR-FO-992 ADAPTABLE FORD

Tie Rod End

Weight: 2,659

F-250 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2011-2016 Front Inner HC3Z3A131F

Length: 485 Bolt Metric: M14X1,5 Housing Metric: 1" 16UN 2A

RWD / Longer Side

RODRUNNER REF NO: TR-FO-992 ADAPTABLE FORD

Tie Rod End

Weight: 2,659

F-350 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2011-2016 Front Inner HC3Z3A131F

Length: 485 Bolt Metric: M14X1,5 Housing Metric: 1" 16UN 2A

RWD / Longer Side

www.rodrunnerparts.com 72



January 2023

RODRUNNER REF NO: TR-H-1131 ADAPTABLE HONDA

Tie Rod End

Weight: 0,472

CITY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 2020- Front Right 53540T00003

Length: 169 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-H-1132 ADAPTABLE HONDA

Tie Rod End

Weight: 0,472

CITY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 2020- Front Left 53560T00003

Length: 169 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 73



January 2023

RODRUNNER REF NO: TR-H-1141 ADAPTABLE HONDA

Tie Rod End

Weight: 0,802

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FE/FL 2022- Front Right 53540T20A02

Length: 213 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-H-1141 ADAPTABLE ACURA

Tie Rod End

Weight: 0,802

INTEGRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DE4 2022- Front Right 53540T20A02

Length: 213 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 74



January 2023

RODRUNNER REF NO: TR-H-1142 ADAPTABLE HONDA

Tie Rod End

Weight: 0,802

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FE/FL 2022- Front Left 53560T20A02

Length: 213 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-H-1142 ADAPTABLE ACURA

Tie Rod End

Weight: 0,802

INTEGRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DE4 2022- Front Left 53560T20A02

Length: 213 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 75



January 2023

RODRUNNER REF NO: BC-HO-BS178 ADAPTABLE ACURA

Control Arm Bushing

Weight: 0,419

MDX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YD3 2014-2020 Front Lower
Outer

51350TZ5A01*, 51360TZ5A01*

Length: 69

TC-AC-318
Control Arm

and Ball Joint
Front Right

Lower
51350TZ5A01

TC-AC-319
Control Arm

and Ball Joint
Front Left

Lower
51360TZ5A01

RODRUNNER REF NO: BC-HO-BS178 ADAPTABLE HONDA

Control Arm Bushing

Weight: 0,419

PILOT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2016- Front Lower
Outer

51350TZ5A01*, 51360TZ5A01*

Length: 69

TC-AC-318
Control Arm

and Ball Joint
Front Right

Lower
51350TZ5A01

TC-AC-319
Control Arm

and Ball Joint
Front Left

Lower
51360TZ5A01

www.rodrunnerparts.com 76



January 2023

RODRUNNER REF NO: BC-HO-BS179 ADAPTABLE HONDA

Control Arm Bushing

Weight: 0,278

ACCORD

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 2018- Front Lower
Inner

51350TVAA04*, 51360TVAA04*

Length: 60

TC-H-1318
Control Arm

and Ball Joint
Front Right

Lower
51350TVAA04

TC-H-1318S Control Arm
Front Right

Lower
51350TVAA04

TC-H-1319
Control Arm

and Ball Joint
Front Left

Lower
51360TVAA04

TC-H-1319S Control Arm
Front Left

Lower
51360TVAA04

www.rodrunnerparts.com 77



January 2023

RODRUNNER REF NO: BC-HO-BS180 ADAPTABLE HONDA

Control Arm Bushing

Weight: 1,764

ODYSSEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2018- Front Lower
Inner

51350TZ5A01*, 51350THRA10*

Length: 81

TC-AC-318
Control Arm

and Ball Joint
Front Right

Lower
51350TZ5A01

TC-H-1338
Control Arm

and Ball Joint
Front Right

Lower
51350THRA10

RODRUNNER REF NO: BC-HO-BS180 ADAPTABLE ACURA

Control Arm Bushing

Weight: 1,764

MDX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YD3 2014-2020 Front Lower
Inner

51350TZ5A01*, 51350THRA10*

Length: 81

TC-AC-318
Control Arm

and Ball Joint
Front Right

Lower
51350TZ5A01

TC-H-1338
Control Arm

and Ball Joint
Front Right

Lower
51350THRA10

www.rodrunnerparts.com 78



January 2023

RODRUNNER REF NO: BC-HO-BS181 ADAPTABLE HONDA

Control Arm Bushing

Weight: 1,764

ODYSSEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2018- Front Lower
Outer

51360TZ5A01*, 51360THRA10*

Length: 81

TC-AC-319
Control Arm

and Ball Joint
Front Left

Lower
51360TZ5A01

TC-H-1339
Control Arm

and Ball Joint
Front Left

Lower
51360THRA10

RODRUNNER REF NO: BC-HO-BS181 ADAPTABLE ACURA

Control Arm Bushing

Weight: 1,764

MDX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YD3 2014-2020 Front Lower
Outer

51360TZ5A01*, 51360THRA10*

Length: 81

TC-AC-319
Control Arm

and Ball Joint
Front Left

Lower
51360TZ5A01

TC-H-1339
Control Arm

and Ball Joint
Front Left

Lower
51360THRA10

www.rodrunnerparts.com 79



January 2023

RODRUNNER REF NO: BC-HO-BS182 ADAPTABLE HONDA

Control Arm Bushing

Weight: 0,317

ODYSSEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2018- Front Lower
Outer

51350THRA10*, 51360THRA10*

Length: 69

TC-H-1338
Control Arm

and Ball Joint
Front Right

Lower
51350THRA10

TC-H-1339
Control Arm

and Ball Joint
Front Left

Lower
51360THRA10

RODRUNNER REF NO: LS-IN-166 ADAPTABLE INFINITI

Stabilizer Bar Link

Weight: 0,197

Q45

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1990-1996 Front K9830, 5461860U05

Length: 87 Bolt Metric: M10X1,25

Moog Type

www.rodrunnerparts.com 80



January 2023

RODRUNNER REF NO: TC-JA-1028 ADAPTABLE JAGUAR

Lateral Arm

Weight: 2,501

I-PACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Front Right
Lower Forward

T4K5804, J9D33C256BB

Length: 397,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JG-BS028
Lateral Arm

Bushing
Front Lower

Forward
T4K5804*, J9D33C256BB*,
T4K5805, J9D33C257BB

RODRUNNER REF NO: TC-JA-1029 ADAPTABLE JAGUAR

Lateral Arm

Weight: 2,501

I-PACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Front Left
Lower Forward

T4K5805, J9D33C257BB

Length: 397,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JG-BS028
Lateral Arm

Bushing
Front Lower

Forward
T4K5804*, J9D33C256BB*,
T4K5805, J9D33C257BB

www.rodrunnerparts.com 81



January 2023

RODRUNNER REF NO: TC-JA-1148 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 1,478

S-TYPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CCX 1999-2008 Rear Right
Upper

C2D49448

Length: 236,8 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1014
Control Arm

Bushing
Rear Upper
Rearward

C2D49448*, C2D49449*

BC-JG-BS031
Control Arm

Bushing
Rear Upper C2D49448*, C2D49449*

RODRUNNER REF NO: TC-JA-1148 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 1,478

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015 Rear Right
Upper

C2D49448

Length: 236,8 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1014
Control Arm

Bushing
Rear Upper
Rearward

C2D49448*, C2D49449*

BC-JG-BS031
Control Arm

Bushing
Rear Upper C2D49448*, C2D49449*

www.rodrunnerparts.com 82



January 2023

RODRUNNER REF NO: TC-JA-1148 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 1,478

XJ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X351 2010-2019 Rear Right
Upper

C2D49448

Length: 236,8 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1014
Control Arm

Bushing
Rear Upper
Rearward

C2D49448*, C2D49449*

BC-JG-BS031
Control Arm

Bushing
Rear Upper C2D49448*, C2D49449*

RODRUNNER REF NO: TC-JA-1148 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 1,478

XK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X150 2006-2015 Rear Right
Upper

C2D49448

Length: 236,8 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1014
Control Arm

Bushing
Rear Upper
Rearward

C2D49448*, C2D49449*

BC-JG-BS031
Control Arm

Bushing
Rear Upper C2D49448*, C2D49449*

www.rodrunnerparts.com 83



January 2023

RODRUNNER REF NO: TC-JA-1149 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 1,478

S-TYPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CCX 1999-2008 Rear Left
Upper

C2D49449

Length: 236,8 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1014
Control Arm

Bushing
Rear Upper
Rearward

C2D49448*, C2D49449*

BC-JG-BS031
Control Arm

Bushing
Rear Upper C2D49448*, C2D49449*

RODRUNNER REF NO: TC-JA-1149 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 1,478

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015 Rear Left
Upper

C2D49449

Length: 236,8 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1014
Control Arm

Bushing
Rear Upper
Rearward

C2D49448*, C2D49449*

BC-JG-BS031
Control Arm

Bushing
Rear Upper C2D49448*, C2D49449*

www.rodrunnerparts.com 84



January 2023

RODRUNNER REF NO: TC-JA-1149 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 1,478

XJ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X351 2010-2019 Rear Left
Upper

C2D49449

Length: 236,8 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1014
Control Arm

Bushing
Rear Upper
Rearward

C2D49448*, C2D49449*

BC-JG-BS031
Control Arm

Bushing
Rear Upper C2D49448*, C2D49449*

RODRUNNER REF NO: TC-JA-1149 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 1,478

XK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X150 2006-2015 Rear Left
Upper

C2D49449

Length: 236,8 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1014
Control Arm

Bushing
Rear Upper
Rearward

C2D49448*, C2D49449*

BC-JG-BS031
Control Arm

Bushing
Rear Upper C2D49448*, C2D49449*

www.rodrunnerparts.com 85



January 2023

RODRUNNER REF NO: BC-JG-BS031 ADAPTABLE JAGUAR

Control Arm Bushing

Weight: 0,14

S-TYPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CCX 1999-2008 Rear Upper C2D49448*, C2D49449*

Length: 53,5

TC-JA-1148
Control Arm

and Ball Joint
Rear Right

Upper
C2D49448

TC-JA-1149
Control Arm

and Ball Joint
Rear Left

Upper
C2D49449

RODRUNNER REF NO: BC-JG-BS031 ADAPTABLE JAGUAR

Control Arm Bushing

Weight: 0,14

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015 Rear Upper C2D49448*, C2D49449*

Length: 53,5

TC-JA-1148
Control Arm

and Ball Joint
Rear Right

Upper
C2D49448

TC-JA-1149
Control Arm

and Ball Joint
Rear Left

Upper
C2D49449

www.rodrunnerparts.com 86



January 2023

RODRUNNER REF NO: BC-JG-BS031 ADAPTABLE JAGUAR

Control Arm Bushing

Weight: 0,14

XJ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X351 2010-2019 Rear Upper C2D49448*, C2D49449*

Length: 53,5

TC-JA-1148
Control Arm

and Ball Joint
Rear Right

Upper
C2D49448

TC-JA-1149
Control Arm

and Ball Joint
Rear Left

Upper
C2D49449

RODRUNNER REF NO: BC-JG-BS031 ADAPTABLE JAGUAR

Control Arm Bushing

Weight: 0,14

XK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X150 2006-2015 Rear Upper C2D49448*, C2D49449*

Length: 53,5

TC-JA-1148
Control Arm

and Ball Joint
Rear Right

Upper
C2D49448

TC-JA-1149
Control Arm

and Ball Joint
Rear Left

Upper
C2D49449

www.rodrunnerparts.com 87



January 2023

RODRUNNER REF NO: TR-JE-1001 ADAPTABLE JEEP

Tie Rod End

Weight: 1,265

GLADIATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JT 2020- Front Outer 68258760AE

Length: 219,5 Bolt Metric: M14X1,5 Housing Metric: M29X1,5

RODRUNNER REF NO: TR-JE-1001 ADAPTABLE JEEP

Tie Rod End

Weight: 1,265

WRANGLER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JL 2018- Front Outer 68258760AE

Length: 219,5 Bolt Metric: M14X1,5 Housing Metric: M29X1,5

www.rodrunnerparts.com 88



January 2023

RODRUNNER REF NO: BC-JG-BS028 ADAPTABLE JAGUAR

Lateral Arm Bushing

Weight: 0,479

I-PACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Front Lower
Forward

T4K5804*, J9D33C256BB*,
T4K5805, J9D33C257BB

Length: 85

TC-JA-1028 Lateral Arm
Front Right

Lower Forward
T4K5804, J9D33C256BB

TC-JA-1029 Lateral Arm
Front Left

Lower Forward
T4K5805, J9D33C257BB

RODRUNNER REF NO: BC-JG-BS029 ADAPTABLE JAGUAR

Control Arm Bushing

Weight: 0,218

I-PACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Front Upper T4A27474*, T4A27475*

Length: 53

TC-JA-1078
Control Arm

and Ball Joint
Front Right

Upper
T4A27474

TC-JA-1079
Control Arm

and Ball Joint
Front Left

Upper
T4A27475

www.rodrunnerparts.com 89



January 2023

RODRUNNER REF NO: BC-JG-BS030 ADAPTABLE JAGUAR

Lateral Arm Bushing

Weight: 0,262

XE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X760 2015- Rear Lower
Forward

T2H16771*

Length: 109,5

TC-JA-1138 Lateral Arm
Rear Lower

Forward
T2H16771

RODRUNNER REF NO: BC-JG-BS030 ADAPTABLE JAGUAR

Lateral Arm Bushing

Weight: 0,262

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X260 2016- Rear Lower
Forward

T2H16771*

Length: 109,5

TC-JA-1138 Lateral Arm
Rear Lower

Forward
T2H16771

www.rodrunnerparts.com 90



January 2023

RODRUNNER REF NO: LS-KI-626 ADAPTABLE KIA

Stabilizer Bar Link

Weight: 0,475

K900

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RJ 2015- Front Right 548403T000

Length: 260 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-KI-627 ADAPTABLE KIA

Stabilizer Bar Link

Weight: 0,475

K900

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RJ 2015- Front Left 548303T000

Length: 260 Bolt Metric: M12X1,25

www.rodrunnerparts.com 91



January 2023

RODRUNNER REF NO: BC-KI-BS048 ADAPTABLE KIA

Control Arm Bushing

Weight: 0,45

OPTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen, JF 2016- Front Lower
Outer

54501E6100*, 54500E6100*

Length: 70,2

TC-KI-728
Control Arm

and Ball Joint
Front Right

Lower
54501E6100

TC-KI-729
Control Arm

and Ball Joint
Front Left

Lower
54500E6100

RODRUNNER REF NO: BC-KI-BS048 ADAPTABLE HYUNDAI

Control Arm Bushing

Weight: 0,45

SONATA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen, LF 2015- Front Lower
Outer

54501E6100*, 54500E6100*

Length: 70,2

TC-KI-728
Control Arm

and Ball Joint
Front Right

Lower
54501E6100

TC-KI-729
Control Arm

and Ball Joint
Front Left

Lower
54500E6100

www.rodrunnerparts.com 92



January 2023

RODRUNNER REF NO: TC-LA-408 ADAPTABLE LAND ROVER

Lateral Arm

Weight: 1,635

FREELANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

II 2006-2014 Rear Lower
Rearward

LR002576

Length: 423

RODRUNNER REF NO: TC-LA-408 ADAPTABLE LAND ROVER

Lateral Arm

Weight: 1,635

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L538 2011-2018 Rear Lower
Rearward

LR002576

Length: 423

VIN: From EG000001

www.rodrunnerparts.com 93



January 2023

RODRUNNER REF NO: TC-LA-408 ADAPTABLE LAND ROVER

Lateral Arm

Weight: 1,635

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L405 2012- Rear Lower
Rearward

LR002576

Length: 423

RODRUNNER REF NO: TC-LA-418 ADAPTABLE LAND ROVER

Lateral Arm

Weight: 1,048

FREELANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

II 2006-2014 Rear Lower
Forward

LR029576

Length: 418

www.rodrunnerparts.com 94



January 2023

RODRUNNER REF NO: TC-LA-418 ADAPTABLE LAND ROVER

Lateral Arm

Weight: 1,048

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L538 2011-2018 Rear Lower
Forward

LR029576

Length: 418

RODRUNNER REF NO: TC-LA-418 ADAPTABLE LAND ROVER

Lateral Arm

Weight: 1,048

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L405 2012- Rear Lower
Forward

LR029576

Length: 418

www.rodrunnerparts.com 95



January 2023

RODRUNNER REF NO: LS-LX-366 ADAPTABLE LEXUS

Stabilizer Bar Link

Weight: 0,581

ES350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XV40 2006-2012 Front Right 4882033080

Length: 273 Bolt Metric: M12X1,25

YEAR ONLY
2010-2012

RODRUNNER REF NO: LS-LX-367 ADAPTABLE LEXUS

Stabilizer Bar Link

Weight: 0,581

ES350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XV40 2006-2012 Front Left 4881033080

Length: 273 Bolt Metric: M12X1,25

YEAR ONLY
2010-2012

www.rodrunnerparts.com 96



January 2023

RODRUNNER REF NO: TC-M-1138 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 3,709

A-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W177 2018- Front Right
Lower

2473300600

Length: 367 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS294
Control Arm

Bushing
Front Inner

2473300600*, 2473300500,
1773307400*, 1773307300*

BC-ME-BS297
Control Arm

Bushing
Front Right

Outer
2473300600*, 1183309600*

for Standard Suspenison

RODRUNNER REF NO: TC-M-1138 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 3,709

B-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W247 2018- Front Right
Lower

2473300600

Length: 367 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS294
Control Arm

Bushing
Front Inner

2473300600*, 2473300500,
1773307400*, 1773307300*

BC-ME-BS297
Control Arm

Bushing
Front Right

Outer
2473300600*, 1183309600*

for Standard Suspenison

www.rodrunnerparts.com 97



January 2023

RODRUNNER REF NO: TC-M-1139 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 3,709

A-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W177 2018- Front Left
Lower

2473300500

Length: 367 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS294
Control Arm

Bushing
Front Inner

2473300600*, 2473300500,
1773307400*, 1773307300*

BC-ME-BS298
Control Arm

Bushing
Front Left

Outer
2473300500*, 1183309500*

for Standard Suspenison

RODRUNNER REF NO: TC-M-1139 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 3,709

B-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W247 2018- Front Left
Lower

2473300500

Length: 367 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS294
Control Arm

Bushing
Front Inner

2473300600*, 2473300500,
1773307400*, 1773307300*

BC-ME-BS298
Control Arm

Bushing
Front Left

Outer
2473300500*, 1183309500*

for Standard Suspenison

www.rodrunnerparts.com 98



January 2023

RODRUNNER REF NO: TC-M-1178 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 3,852

CLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C118 2019- Front Right 1183309600

Length: 388 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS294
Control Arm

Bushing
Front Inner

2473300600*, 2473300500,
1773307400*, 1773307300*

BC-ME-BS297
Control Arm

Bushing
Front Right

Outer
2473300600*, 1183309600*

for Standard Suspenison

RODRUNNER REF NO: TC-M-1179 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 3,852

CLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C118 2019- Front Left 1183309500

Length: 388 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS294
Control Arm

Bushing
Front Inner

2473300600*, 2473300500,
1773307400*, 1773307300*

BC-ME-BS298
Control Arm

Bushing
Front Left

Outer
2473300500*, 1183309500*

for Standard Suspenison

www.rodrunnerparts.com 99



January 2023

RODRUNNER REF NO: TC-M-1248 ADAPTABLE MERCEDES

Lateral Arm

Weight: 0,52

A-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W176 2013-2018 Rear Lower
Forward

1763501100

Length: 207,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS292
Lateral Arm

Bushing
Rear Lower

Forward
1763501100*

RODRUNNER REF NO: TC-M-1248 ADAPTABLE MERCEDES

Lateral Arm

Weight: 0,52

CLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W176 2012-2019 Rear Lower
Forward

1763501100

Length: 207,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS292
Lateral Arm

Bushing
Rear Lower

Forward
1763501100*

www.rodrunnerparts.com 100



January 2023

RODRUNNER REF NO: TC-M-1248 ADAPTABLE MERCEDES

Lateral Arm

Weight: 0,52

GLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X156 2013-2019 Rear Lower
Forward

1763501100

Length: 207,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS292
Lateral Arm

Bushing
Rear Lower

Forward
1763501100*

RODRUNNER REF NO: TC-M-1358 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 1,555

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Right 2063302200

Length: 242,4 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS300
Control Arm

Bushing
Front Upper 2063302200*, 2063302100*

www.rodrunnerparts.com 101



January 2023

RODRUNNER REF NO: TC-M-1359 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 1,555

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Left 2063302100

Length: 242,4 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS300
Control Arm

Bushing
Front Upper 2063302200*, 2063302100*

RODRUNNER REF NO: TC-MA-1048 ADAPTABLE MAZDA

Lateral Arm

Weight: 1,954

CX-5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KE 2011-2017 Rear Upper KB7W28C10, KD3528C10

Length: 318,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 898
Control Arm

Bushing
Rear GHP928450*, KD3528480*

BC-SB 855
Control Arm

Bushing
Front Inner GHP928480*, KD3528450*

www.rodrunnerparts.com 102



January 2023

RODRUNNER REF NO: LS-MA-946 ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 0,208

B-SERIE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1984-1999 Front MK90120, UB3934154

Length: 153 Bolt Metric: 3/8 16 UNC RH

RODRUNNER REF NO: LS-MA-946 ADAPTABLE MAZDA

Stabilizer Bar Link

Weight: 0,208

B-SERIE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1999-2006 Front MK90120, UB3934154

Length: 153 Bolt Metric: 3/8 16 UNC RH

www.rodrunnerparts.com 103



January 2023

RODRUNNER REF NO: BC-ME-BS292 ADAPTABLE MERCEDES

Lateral Arm Bushing

Weight: 0,294

A-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W176 2013-2018 Rear Lower
Forward

1763501100*

Length: 50

TC-M-1248 Lateral Arm
Rear Lower

Forward
1763501100

RODRUNNER REF NO: BC-ME-BS292 ADAPTABLE MERCEDES

Lateral Arm Bushing

Weight: 0,294

CLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W176 2012-2019 Rear Lower
Forward

1763501100*

Length: 50

TC-M-1248 Lateral Arm
Rear Lower

Forward
1763501100

www.rodrunnerparts.com 104



January 2023

RODRUNNER REF NO: BC-ME-BS292 ADAPTABLE MERCEDES

Lateral Arm Bushing

Weight: 0,294

GLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X156 2013-2019 Rear Lower
Forward

1763501100*

Length: 50

TC-M-1248 Lateral Arm
Rear Lower

Forward
1763501100

www.rodrunnerparts.com 105



January 2023

RODRUNNER REF NO: BC-ME-BS294 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,412

A-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W177 2018- Front Inner 2473300600*, 2473300500,
1773307400*, 1773307300*

Length: 68

TC-M-1138
Control Arm

and Ball Joint
Front Right

Lower
2473300600

TC-M-1139
Control Arm

and Ball Joint
Front Left

Lower
2473300500

TC-M-1178
Control Arm

and Ball Joint
Front Right 1183309600

TC-M-1179
Control Arm

and Ball Joint
Front Left 1183309500

www.rodrunnerparts.com 106



January 2023

RODRUNNER REF NO: BC-ME-BS294 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,412

B-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W247 2018- Front Inner 2473300600*, 2473300500,
1773307400*, 1773307300*

Length: 68

TC-M-1138
Control Arm

and Ball Joint
Front Right

Lower
2473300600

TC-M-1139
Control Arm

and Ball Joint
Front Left

Lower
2473300500

TC-M-1178
Control Arm

and Ball Joint
Front Right 1183309600

TC-M-1179
Control Arm

and Ball Joint
Front Left 1183309500

www.rodrunnerparts.com 107



January 2023

RODRUNNER REF NO: BC-ME-BS294 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,412

A-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W177 2018- Front Inner 2473300600*, 2473300500,
1773307400*, 1773307300*

Length: 68

TC-M-1138
Control Arm

and Ball Joint
Front Right

Lower
2473300600

TC-M-1139
Control Arm

and Ball Joint
Front Left

Lower
2473300500

TC-M-1178
Control Arm

and Ball Joint
Front Right 1183309600

TC-M-1179
Control Arm

and Ball Joint
Front Left 1183309500

www.rodrunnerparts.com 108



January 2023

RODRUNNER REF NO: BC-ME-BS294 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,412

CLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C118 2019- Front Inner 2473300600*, 2473300500,
1773307400*, 1773307300*

Length: 68

TC-M-1138
Control Arm

and Ball Joint
Front Right

Lower
2473300600

TC-M-1139
Control Arm

and Ball Joint
Front Left

Lower
2473300500

TC-M-1178
Control Arm

and Ball Joint
Front Right 1183309600

TC-M-1179
Control Arm

and Ball Joint
Front Left 1183309500

www.rodrunnerparts.com 109



January 2023

RODRUNNER REF NO: BC-ME-BS294 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,412

GLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

H247 2020- Front Inner 2473300600*, 2473300500,
1773307400*, 1773307300*

Length: 68

TC-M-1138
Control Arm

and Ball Joint
Front Right

Lower
2473300600

TC-M-1139
Control Arm

and Ball Joint
Front Left

Lower
2473300500

TC-M-1178
Control Arm

and Ball Joint
Front Right 1183309600

TC-M-1179
Control Arm

and Ball Joint
Front Left 1183309500

www.rodrunnerparts.com 110



January 2023

RODRUNNER REF NO: BC-ME-BS294 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,412

GLB-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X247 2019- Front Inner 2473300600*, 2473300500,
1773307400*, 1773307300*

Length: 68

TC-M-1138
Control Arm

and Ball Joint
Front Right

Lower
2473300600

TC-M-1139
Control Arm

and Ball Joint
Front Left

Lower
2473300500

TC-M-1178
Control Arm

and Ball Joint
Front Right 1183309600

TC-M-1179
Control Arm

and Ball Joint
Front Left 1183309500

www.rodrunnerparts.com 111



January 2023

RODRUNNER REF NO: BC-ME-BS297 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,61

A-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W177 2018- Front Right
Outer

2473300600*, 1183309600*

Length: 150

TC-M-1138
Control Arm

and Ball Joint
Front Right

Lower
2473300600

TC-M-1178
Control Arm

and Ball Joint
Front Right 1183309600

RODRUNNER REF NO: BC-ME-BS297 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,61

B-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W247 2018- Front Right
Outer

2473300600*, 1183309600*

Length: 150

TC-M-1138
Control Arm

and Ball Joint
Front Right

Lower
2473300600

TC-M-1178
Control Arm

and Ball Joint
Front Right 1183309600

www.rodrunnerparts.com 112



January 2023

RODRUNNER REF NO: BC-ME-BS297 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,61

CLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C118 2019- Front Right
Outer

2473300600*, 1183309600*

Length: 150

TC-M-1138
Control Arm

and Ball Joint
Front Right

Lower
2473300600

TC-M-1178
Control Arm

and Ball Joint
Front Right 1183309600

RODRUNNER REF NO: BC-ME-BS298 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,61

CLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C118 2019- Front Left
Outer

2473300500*, 1183309500*

Length: 150

TC-M-1139
Control Arm

and Ball Joint
Front Left

Lower
2473300500

TC-M-1179
Control Arm

and Ball Joint
Front Left 1183309500

www.rodrunnerparts.com 113



January 2023

RODRUNNER REF NO: BC-ME-BS298 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,61

A-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W177 2018- Front Left
Outer

2473300500*, 1183309500*

Length: 150

TC-M-1139
Control Arm

and Ball Joint
Front Left

Lower
2473300500

TC-M-1179
Control Arm

and Ball Joint
Front Left 1183309500

RODRUNNER REF NO: BC-ME-BS298 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,61

B-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W247 2018- Front Left
Outer

2473300500*, 1183309500*

Length: 150

TC-M-1139
Control Arm

and Ball Joint
Front Left

Lower
2473300500

TC-M-1179
Control Arm

and Ball Joint
Front Left 1183309500

www.rodrunnerparts.com 114



January 2023

RODRUNNER REF NO: BC-ME-BS299 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,169

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Front Upper 1673301400*, 1673301300*

Length: 62

Only AMG

TC-M-1278
Control Arm

and Ball Joint
Front Right

Upper
1673301400

TC-M-1279
Control Arm

and Ball Joint
Front Left

Upper
1673301300

RODRUNNER REF NO: BC-ME-BS299 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,169

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2019- Front Upper 1673301400*, 1673301300*

Length: 62

Only AMG

TC-M-1278
Control Arm

and Ball Joint
Front Right

Upper
1673301400

TC-M-1279
Control Arm

and Ball Joint
Front Left

Upper
1673301300

www.rodrunnerparts.com 115



January 2023

RODRUNNER REF NO: BC-ME-BS300 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,129

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Upper 2063302200*, 2063302100*

Length: 62

TC-M-1358
Control Arm

and Ball Joint
Front Right 2063302200

TC-M-1359
Control Arm

and Ball Joint
Front Left 2063302100

RODRUNNER REF NO: BC-ME-BS300 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,129

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Upper 2063302200*, 2063302100*

Length: 62

TC-M-1358
Control Arm

and Ball Joint
Front Right 2063302200

TC-M-1359
Control Arm

and Ball Joint
Front Left 2063302100

www.rodrunnerparts.com 116



January 2023

RODRUNNER REF NO: TC-MI-838 ADAPTABLE MITSUBISHI

Control Arm and Ball Joint

Weight: 5,329

ECLIPSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3G 2000-2005 Front Right
Lower

RK620313 , MR369796,
MR455736, MR554986

Length: 328,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-794
Suspension

Ball Joint
Front Lower

RK620313*, RK620314*,
MR369796*, MR369795*

Moog Type / for Coupe
Only

RODRUNNER REF NO: TC-MI-838 ADAPTABLE MITSUBISHI

Control Arm and Ball Joint

Weight: 5,329

GALANT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

VI 1996-2004 Front Right
Lower

RK620313 , MR369796,
MR455736, MR554986

Length: 328,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-794
Suspension

Ball Joint
Front Lower

RK620313*, RK620314*,
MR369796*, MR369795*

Moog Type / for Coupe
Only

www.rodrunnerparts.com 117



January 2023

RODRUNNER REF NO: TC-MI-838 ADAPTABLE CHRYSLER

Control Arm and Ball Joint

Weight: 5,329

SEBRING

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

ST22/JR 2001-2006 Front Right
Lower

RK620313 , MR369796,
MR455736, MR554986

Length: 328,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-794
Suspension

Ball Joint
Front Lower

RK620313*, RK620314*,
MR369796*, MR369795*

Moog Type / for Coupe
Only

RODRUNNER REF NO: TC-MI-838 ADAPTABLE DODGE

Control Arm and Ball Joint

Weight: 5,329

STRATUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2001-2006 Front Right
Lower

RK620313 , MR369796,
MR455736, MR554986

Length: 328,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-794
Suspension

Ball Joint
Front Lower

RK620313*, RK620314*,
MR369796*, MR369795*

Moog Type / for Coupe
Only

www.rodrunnerparts.com 118



January 2023

RODRUNNER REF NO: TC-MI-839 ADAPTABLE MITSUBISHI

Control Arm and Ball Joint

Weight: 5,329

ECLIPSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3G 2000-2005 Front Left
Lower

RK620314, MR369795, MR554375,
MR554985

Length: 328,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-794
Suspension

Ball Joint
Front Lower

RK620313*, RK620314*,
MR369796*, MR369795*

Moog Type / for Coupe
Only

RODRUNNER REF NO: TC-MI-839 ADAPTABLE MITSUBISHI

Control Arm and Ball Joint

Weight: 5,329

GALANT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

VI 1996-2004 Front Left
Lower

RK620314, MR369795, MR554375,
MR554985

Length: 328,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-794
Suspension

Ball Joint
Front Lower

RK620313*, RK620314*,
MR369796*, MR369795*

Moog Type / for Coupe
Only

www.rodrunnerparts.com 119



January 2023

RODRUNNER REF NO: TC-MI-839 ADAPTABLE CHRYSLER

Control Arm and Ball Joint

Weight: 5,329

SEBRING

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

ST22/JR 2001-2006 Front Left
Lower

RK620314, MR369795, MR554375,
MR554985

Length: 328,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-794
Suspension

Ball Joint
Front Lower

RK620313*, RK620314*,
MR369796*, MR369795*

Moog Type / for Coupe
Only

RODRUNNER REF NO: TC-MI-839 ADAPTABLE DODGE

Control Arm and Ball Joint

Weight: 5,329

STRATUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2001-2006 Front Left
Lower

RK620314, MR369795, MR554375,
MR554985

Length: 328,4

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-794
Suspension

Ball Joint
Front Lower

RK620313*, RK620314*,
MR369796*, MR369795*

Moog Type / for Coupe
Only

www.rodrunnerparts.com 120



January 2023

RODRUNNER REF NO: LS-N-1076 ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,49

TITAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A61 2016- Rear 56261EZ50A

Length: 215,5 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-N-1106A ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,611

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Rear 562616UA0A

Length: 113 Bolt Metric: M14X1,5

Metal Type

www.rodrunnerparts.com 121



January 2023

RODRUNNER REF NO: LS-N-1116 ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,382

TITAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A61 2016- Front Right 54618EZ60A

Length: 70 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-N-1117 ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,382

TITAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A61 2016- Front Left 54668EZ60A

Length: 70 Bolt Metric: M12X1,25

www.rodrunnerparts.com 122



January 2023

RODRUNNER REF NO: TC-N-1308 ADAPTABLE NISSAN

Lateral Arm

Weight: 2,455

NAVARA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NP300 (D23) 2015- Rear Center 551304JA0A

Length: 1.054,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS154
Lateral Arm

Bushing
Rear Center 551304JA0A*

BC-NI-BS155
Lateral Arm

Bushing
Rear Center 551304JA0A*

RODRUNNER REF NO: TC-N-1308 ADAPTABLE RENAULT

Lateral Arm

Weight: 2,455

ALASKAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Rear Center 551304JA0A

Length: 1.054,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS154
Lateral Arm

Bushing
Rear Center 551304JA0A*

BC-NI-BS155
Lateral Arm

Bushing
Rear Center 551304JA0A*

www.rodrunnerparts.com 123



January 2023

RODRUNNER REF NO: TC-N-1308 ADAPTABLE MERCEDES

Lateral Arm

Weight: 2,455

X-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W470 2017- Rear Center 551304JA0A

Length: 1.054,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS154
Lateral Arm

Bushing
Rear Center 551304JA0A*

BC-NI-BS155
Lateral Arm

Bushing
Rear Center 551304JA0A*

RODRUNNER REF NO: TC-N-1348 ADAPTABLE NISSAN

Lateral Arm

Weight: 3,922

NAVARA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NP300 (D23) 2015- Rear Lower 551104JA9A

Length: 848,5

www.rodrunnerparts.com 124



January 2023

RODRUNNER REF NO: TC-N-1348 ADAPTABLE RENAULT

Lateral Arm

Weight: 3,922

ALASKAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Rear Lower 551104JA9A

Length: 848,5

RODRUNNER REF NO: TC-N-1388 ADAPTABLE NISSAN

Lateral Arm

Weight: 0,771

ALTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L31 2001-2006 Rear 551103Z000

Length: 333

www.rodrunnerparts.com 125



January 2023

RODRUNNER REF NO: TC-N-1388 ADAPTABLE NISSAN

Lateral Arm

Weight: 0,771

MAXIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A34 2004-2008 Rear 551103Z000

Length: 333

RODRUNNER REF NO: BC-NI-BS152 ADAPTABLE NISSAN

Control Arm Bushing

Weight: 0,436

ALTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2019- Front Lower
Inner

545006CA0A*, 545016CA0A*

Length: 65

TC-N-1278
Control Arm

and Ball Joint
Front Right 545006CA0A

TC-N-1279
Control Arm

and Ball Joint
Front Left 545016CA0A

www.rodrunnerparts.com 126



January 2023

RODRUNNER REF NO: BC-NI-BS154 ADAPTABLE NISSAN

Lateral Arm Bushing

Weight: 0,18

NAVARA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NP300 (D23) 2015- Rear Center 551304JA0A*

Length: 48

TC-N-1308 Lateral Arm Rear Center 551304JA0A

RODRUNNER REF NO: BC-NI-BS154 ADAPTABLE RENAULT

Lateral Arm Bushing

Weight: 0,18

ALASKAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Rear Center 551304JA0A*

Length: 48

TC-N-1308 Lateral Arm Rear Center 551304JA0A

www.rodrunnerparts.com 127



January 2023

RODRUNNER REF NO: BC-NI-BS154 ADAPTABLE MERCEDES

Lateral Arm Bushing

Weight: 0,18

X-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W470 2017- Rear Center 551304JA0A*

Length: 48

TC-N-1308 Lateral Arm Rear Center 551304JA0A

RODRUNNER REF NO: BC-NI-BS155 ADAPTABLE NISSAN

Lateral Arm Bushing

Weight: 0,324

NAVARA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NP300 (D23) 2015- Rear Center 551304JA0A*

Length: 48

TC-N-1308 Lateral Arm Rear Center 551304JA0A

www.rodrunnerparts.com 128



January 2023

RODRUNNER REF NO: BC-NI-BS155 ADAPTABLE RENAULT

Lateral Arm Bushing

Weight: 0,324

ALASKAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Rear Center 551304JA0A*

Length: 48

TC-N-1308 Lateral Arm Rear Center 551304JA0A

RODRUNNER REF NO: BC-NI-BS155 ADAPTABLE MERCEDES

Lateral Arm Bushing

Weight: 0,324

X-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W470 2017- Rear Center 551304JA0A*

Length: 48

TC-N-1308 Lateral Arm Rear Center 551304JA0A

www.rodrunnerparts.com 129



January 2023

RODRUNNER REF NO: BC-NI-BS156 ADAPTABLE NISSAN

Lateral Arm Bushing

Weight: 0,322

NAVARA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NP300 (D23) 2015- Rear Upper 551204JA9A*

Length: 60

TC-N-1318 Lateral Arm Rear Upper 551204JA9A

RODRUNNER REF NO: BC-NI-BS156 ADAPTABLE RENAULT

Lateral Arm Bushing

Weight: 0,322

ALASKAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Rear Upper 551204JA9A*

Length: 60

TC-N-1318 Lateral Arm Rear Upper 551204JA9A

www.rodrunnerparts.com 130



January 2023

RODRUNNER REF NO: TC-SU-728 ADAPTABLE SUBARU

Control Arm and Ball Joint

Weight: 2,609

XV

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GP 2012-2017 Rear Right 20252SG001

Length: 266

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SU-BS036
Control Arm

Bushing
Rear Upper 20252SG001*, 20252SG011*

BC-SU-BS037
Control Arm

Bushing
Rear Upper 20252SG001*, 20252SG011*

RODRUNNER REF NO: TC-SU-728 ADAPTABLE SUBARU

Control Arm and Ball Joint

Weight: 2,609

FORESTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SJ 2014-2018 Rear Right 20252SG001

Length: 266

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SU-BS036
Control Arm

Bushing
Rear Upper 20252SG001*, 20252SG011*

BC-SU-BS037
Control Arm

Bushing
Rear Upper 20252SG001*, 20252SG011*

www.rodrunnerparts.com 131



January 2023

RODRUNNER REF NO: TC-SU-729 ADAPTABLE SUBARU

Control Arm and Ball Joint

Weight: 2,609

XV

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GP 2012-2017 Rear Left 20252SG011

Length: 266

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SU-BS036
Control Arm

Bushing
Rear Upper 20252SG001*, 20252SG011*

BC-SU-BS037
Control Arm

Bushing
Rear Upper 20252SG001*, 20252SG011*

RODRUNNER REF NO: TC-SU-729 ADAPTABLE SUBARU

Control Arm and Ball Joint

Weight: 2,609

FORESTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SJ 2014-2018 Rear Left 20252SG011

Length: 266

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SU-BS036
Control Arm

Bushing
Rear Upper 20252SG001*, 20252SG011*

BC-SU-BS037
Control Arm

Bushing
Rear Upper 20252SG001*, 20252SG011*

www.rodrunnerparts.com 132



January 2023

RODRUNNER REF NO: TC-SU-768 ADAPTABLE SUBARU

Lateral Arm

Weight: 1,223

FORESTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SH 2008-2014 Rear Right
Lower

20250AJ000

Length: 376,5

RODRUNNER REF NO: TC-SU-768 ADAPTABLE SUBARU

Lateral Arm

Weight: 1,223

IMPREZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GE, GH, GR,
GV

2008-2011 Rear Right
Lower

20250AJ000

Length: 376,5

www.rodrunnerparts.com 133



January 2023

RODRUNNER REF NO: TC-SU-769 ADAPTABLE SUBARU

Lateral Arm

Weight: 1,223

FORESTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SH 2008-2014 Rear Left
Lower

20250AJ070

Length: 376,5

RODRUNNER REF NO: TC-SU-769 ADAPTABLE SUBARU

Lateral Arm

Weight: 1,223

IMPREZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GE, GH, GR,
GV

2008-2011 Rear Left
Lower

20250AJ070

Length: 376,5

www.rodrunnerparts.com 134



January 2023

RODRUNNER REF NO: BC-SU-BS036 ADAPTABLE SUBARU

Control Arm Bushing

Weight: 0,174

XV

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GP 2012-2017 Rear Upper 20252SG001*, 20252SG011*

Length: 49,7

TC-SU-728
Control Arm

and Ball Joint
Rear Right 20252SG001

TC-SU-729
Control Arm

and Ball Joint
Rear Left 20252SG011

RODRUNNER REF NO: BC-SU-BS037 ADAPTABLE SUBARU

Control Arm Bushing

Weight: 0,14

XV

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GP 2012-2017 Rear Upper 20252SG001*, 20252SG011*

Length: 29,8

TC-SU-728
Control Arm

and Ball Joint
Rear Right 20252SG001

TC-SU-729
Control Arm

and Ball Joint
Rear Left 20252SG011

www.rodrunnerparts.com 135



January 2023

RODRUNNER REF NO: TC-T-1498 ADAPTABLE TOYOTA

Lateral Arm

Weight: 1,306

RAV4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XA20 2000-2005 Rear Upper 4877042020

Length: 538,5

RODRUNNER REF NO: TC-T-1528 ADAPTABLE TOYOTA

Lateral Arm

Weight: 0,853

SOLARA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2004-2008 Rear Forward 4871033080

Length: 445,5

www.rodrunnerparts.com 136



January 2023

RODRUNNER REF NO: TC-T-1568 ADAPTABLE TOYOTA

Control Arm and Ball Joint

Weight: 3,892

HIACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

IV 1999-2006 Front Right
Lower

4806826132, 4806826131,
4806826130

Length: 348 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-T-875K
Suspension
Ball Joint Kit

Front Lower
4333029125, 4334029105,
4333029295, 4333029155

RWD

RODRUNNER REF NO: TC-T-1568S ADAPTABLE TOYOTA

Control Arm

Weight: 2,776

HIACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

IV 1999-2006 Front Right
Lower

4806826132, 4806826131,
4806826130

Length: 267,5

RWD

www.rodrunnerparts.com 137



January 2023

RODRUNNER REF NO: TC-T-1569 ADAPTABLE TOYOTA

Control Arm and Ball Joint

Weight: 3,892

HIACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

IV 1999-2006 Front Left
Lower

4806926132, 4806926131,
4806926130

Length: 348 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-T-875K
Suspension
Ball Joint Kit

Front Lower
4333029125, 4334029105,
4333029295, 4333029155

RWD

RODRUNNER REF NO: TC-T-1569S ADAPTABLE TOYOTA

Control Arm

Weight: 2,776

HIACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

IV 1999-2006 Front Left
Lower

4806926132, 4806926131,
4806926130

Length: 267,5

RWD

www.rodrunnerparts.com 138



January 2023

RODRUNNER REF NO: TC-T-1598 ADAPTABLE TOYOTA

Control Arm and Ball Joint

Weight: 4,44

HIACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V 2006-2019 Front Right
Lower

4806826160

Length: 360 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-T-869
Suspension

Ball Joint
Front Lower 4333029565

RODRUNNER REF NO: TC-T-1598S ADAPTABLE TOYOTA

Control Arm

Weight: 2,93

HIACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V 2006-2019 Front Right
Lower

4806826160

Length: 267,5

www.rodrunnerparts.com 139



January 2023

RODRUNNER REF NO: TC-T-1599 ADAPTABLE TOYOTA

Control Arm and Ball Joint

Weight: 4,44

HIACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V 2006-2019 Front Left
Lower

4806926160

Length: 360 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-T-869
Suspension

Ball Joint
Front Lower 4333029565

RODRUNNER REF NO: TC-T-1599S ADAPTABLE TOYOTA

Control Arm

Weight: 2,93

HIACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V 2006-2019 Front Left
Lower

4806926160

Length: 267,5

www.rodrunnerparts.com 140



January 2023

RODRUNNER REF NO: TC-T-1628 ADAPTABLE TOYOTA

Lateral Arm

Weight: 2,138

RAV4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XA40 2013-2018 Rear Right 4876042030

Length: 406,5

Trailing arm

RODRUNNER REF NO: TC-T-1629 ADAPTABLE TOYOTA

Lateral Arm

Weight: 2,138

RAV4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XA40 2013-2018 Rear Left 4878042030

Length: 406,5

www.rodrunnerparts.com 141



January 2023

RODRUNNER REF NO: TC-V-1088 ADAPTABLE VOLKSWAGEN

Lateral Arm

Weight: 1,836

ID.3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Typ E1 2020- Rear Upper
Rearward

1EA505397B

Length: 397,5

RODRUNNER REF NO: TC-V-1088 ADAPTABLE VOLKSWAGEN

Lateral Arm

Weight: 1,836

ID.4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Typ E2 2021- Rear Upper
Rearward

1EA505397B

Length: 397,5

www.rodrunnerparts.com 142



January 2023

RODRUNNER REF NO: TC-V-1088 ADAPTABLE VOLKSWAGEN

Lateral Arm

Weight: 1,836

ID.5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear Upper
Rearward

1EA505397B

Length: 397,5

RODRUNNER REF NO: BC-VW-BS129 ADAPTABLE VOLKSWAGEN

Control Arm Bushing

Weight: 0,128

TRANSPORTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T4 1990-2003 Front Lower 7D0407152A*

Length: 59,9

TC-V-708 Control Arm
Front Right

Lower
7D0407152A

TC-V-709 Control Arm
Front Left

Lower
7D0407151A

www.rodrunnerparts.com 143


